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N = #h £ 50 cm
No | BI5E B PhX 4 L BibhR BiE RELT Bl & EhE
1 BRETHHE 0.08 0.08 - 0.08 0.08
2 RELE 0.08 0.09 - 0.08 0.08
3 B4 E 0.08 0.09 - 0.09 0.08
4 AEREM 0.08 0.09 - 0.10 0.10
5 AR GHE 0.09 0.10 - 0.11 0.11
6| 12/14 SIERER 0.08 0.08 - 0.08 0.08
7 RIHHE 0.08 0.08 - 0.08 0.08
8 TIURAREBEER 0.08 0.08 - 0.08 -
9 REEHLMED 0.07 - - - -
10 BUSEHHE 0.08 0.08 - - -
11 HOIEZHHE 0.08 0.08 - 0.08 0.08
12 5 tEHERET 0.08 0.09 - 0.09 0.08
13 o3| B STHREE 0.08 0.09 - 0.09 0.08
14 gy sE 0.07 0.08 - 0.07 0.07
15 = EERER 0.09 0.10 - 0.10 0.10
16 ThELREER 0.07 0.07 - 0.07 0.07
17 KIBRERR 0.08 0.09 - 0.09 0.09
18[ 12/12 E/vFH 0.07 0.07 - 0.07 0.07
19 KBAREFR 0.06 0.07 - 0.07 0.07
20 VFEDLYREE 0.06 0.07 - 0.07 0.07
21 BEREM 0.07 0.07 0.09 0.08 0.08
22 BRARER 0.07 0.08 0.09 0.10 0.08
23 12/14 BEEREM 0.08 0.10 0.09 0.10 0.09
24 AEIERER 0.07 0.07 0.09 - -
25 ELFHHE 0.10 0.12 0.12 0.11 0.11
26 AEBENHE 0.09 0.09 0.09 0.09 0.09
27 - EREFIINREFR 0.08 0.06 - 0.09 0.07
28 " RAMREFT 0.08 0.08 0.10 0.09 0.08
29 o —gmEm 0.11 0.09 0.10 - 0.09
30 = KINRERR 0.11 0.08 0.06 0.10 0.10
31 BIIREM 0.09 0.09 - 0.10 0.09
32( 12/13 [LRRERT 0.09 0.09 - 0.09 0.09
33 A | dEFHRERR 0.09 0.10 - 0.10 0.10
34 ﬁ AR RERRT 0.08 0.09 - 0.09 0.09
35 1212 X |FIHRERR 0.08 0.09 - 0.10 0.10
36 BXRERM 0.08 0.10 - 0.10 0.10
37 AAVREER 0.09 0.09 - 0.11 0.11
38| 12/12 |¥k& [FrEEREFR 0.08 0.09 - 0.10 0.09
39 it |BHEERER 0.09 0.08 0.09 - 0.08
40| 12/13 fﬂ_ﬁ EEEEM 0.09 0.10 0.09 0.09 0.10
41 X |#IEREFR 0.07 0.10 - 0.10 0.12
42| 12/14 |4tRE [BEEE 0.09 0.10 0.14 0.12 0.14
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